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1. Do not open this booklet until you are told to do so:
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2.  TFollow carefully the instructions given at the beginnt
booklet.
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Do not waste ime. If a guestion 16 difficul for vou, go on ¢ the nex: one.
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Section A (30 x 2 marks)

Forv each question from 1 to 30, four options are given

Optical Answer Sheet,

1. The diagram below shows a gysls

e of them 15 ¢the corrvect

T
L

(it

f gear A spins clockwise, which way do the other

| Gear B | Gew C Gear D i
L) 1 Anti-clociowise | Clockscise Anti-ch
(2) _Anti-clockwis | Clc Clock
) Cloowise L Vise z
(4) Clockwvise -ciockwise
.



A apdee 1S om exte .\15 to 17 cry when Load ANs suspendexd o "it. and 21 om
whien Load Y s suspended on it If Load g Sy, what s the total mass of
Load X and Y"




3. The table shows how fruits can be prouped

Maryv Seeds ;

Thin skin A 3 ™

Thick sxin C

(9]

In which box, A, B, C or I, would you piacs ja 112

(1) A
() B
3)C
(4D

4. The graph below shows how the temperature of two beakers ol watar, Xand ¥,
changes over time. ‘

Temperature

(°C)

Study ths graph abbve carsfully. Which ons o7 the lojlowing stare ents inierprets
the graph correctly?

{1) There were ice vuhes i Beakers X and

{2) Both beakers of v ater botled at the same e,
(3} Beaker X was heatad over 2 sirongis
(%) Beaker Y was heated over a stronger




Mike had @ plags tank containing some earthwoarms. dead leaves » nf” marze seeds.
He aoded ano ber arimal ihto tne tank He y sepved the tank for a feaw hours.

L i . ——
ihen hsdrew a granh t

Pﬂuul ton
07
O PEnismS

—

e { hours)

2v voking at the graph, we can fell that the antmal that Mike PRt in was &




6. The diagram shows the Wong faraily tree.

Mr Wong

dark complexion
deiagchicd eariches

dark complexion wmplmzon fair m'npfex dark comyilexion
attached sarlobes L'I“Tuuh?d earlobes detached earlob mn‘u hed eariobas

‘X)—h_lch OJ(' the Chﬂdi‘ S0 11’11]'11J.'|.L\i. ong fv'q.—L’ & "\.)’OJ_" \‘U'\' 53(:}’]_ par@ﬂi?

(1) Sandy and Sue only
(2) Lance and Leon only
(3) Lance and Suc only
(4) Sandy and Leon oruy
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Jare gohup an exneniment a8 shown below, The zet ups were left i two different

piacas from | pae. to 4 am,
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S. Which one of the following diagrams correcity shows the growih of a plant with
fertilisation taking place at the correct stage?

eodbing

i
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flower

4

seed  fuilegrowp plan
T . M i .
' flower

S

IO (2)

full-grown  gpeee—es  seodiing
piant

flower.

f

i seedling

o vy - . .

seced  apmmen fRlI-grown
plant



5. The sirculatory systems carries blood contcm e gases, oxygen and carbon
r2m shows i parts of the

droxide Taough bleed «essels in the body, The diagre

circulaary sysiem.
1. b e e ins s l
2 swmmmmw blood ok in oxygen ;
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irectly shows the Jirection m which blood fiaws?
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The map shows seven factories,

the types of aquatic animais, A
direction the rivers flow.

U VWX Yand Z, atong a river aystant and

T
B, Cand 2 found thers. The amrows shaw the

-

Hot water discharged from sorme factoriss inereasss
river nearby.

Aguatic animals A and Bare found m areas where
Aguatic animals C ard D are found i areas where

The diagram shows whete atuatic animals &, B. Cand D can be {ound.
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Vhich factories urs most

(LT, Wand X only
(YU, Vard Z oniy
(3) V, Y and Z oaly
(4) W, X and Y only



. Theelassification diagram below shows e headings for two gronps of arg an iEms.

-Organisms

“cmaneocacxn

more than ane call

2. Artange the slalernents in ssquence to shaw how global warming eccurs and its
affect
Y7 ek i — S e e o —-\1 :
A 1 Carbou dm \_uie and harmful gacec. rm released into the
B | Tg.mpe ratare on Earth Increases.
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13

Which set of pie chiarts shows correctly
air we breathe in and the air we breathe out?
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For guestioos 14 and 15 use the tnformation below.

Jegeica warnted to examine *he offect of fertiliser on four balsam plants, P, G, R and §
over a parind of fime. At the m'* of the expenment, cach plant was a‘r}ou* 10 emtall and
had 6 dark groen leaves of ab

L
out equat suze.

The teble seicw shows the srmoent of water and fer

PlaniF Flan: PianiS |
?
droos every' S dav o i
i
—em '
At the end of the experonert. ihe recorded her observations in the table below.
. AU S ,- i _
. Plant? Plant ) . Puut R Plant & :
; T - ; 1
; RE . Y s'_
| 10 ' 2 ‘
: o a1y rallmiah ave !
( d3 gre 2n vellowish geen )

14. What effect did the Juily use of ferhliser beve on the plants?

deight el Number of ieaves

i

Doubled decreased

"~ Do et increased »
Cwecreesed | increased |
’_j .[n_:_.roaseg_;_ A stayed the s:m:.}e__f

o1 for this experiment?




16. The graphs below show the temperature of waiern 4 containets, A, B, Cand D.
Which container of water vndergoes changes in all three states”?

(1) | A
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17 The chart helow shows that animals can be classified according to their outer
body anverngs.
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is 15 wrongly clasufiad 1n the chart shown above?
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16. Look at the food web below.

oy oY O

plant

mouse

snaxe

7
Nyl oug

of snake when the population of plant moreasaes?

(1)
population

A

2

wW Dme

(3)
population
A

- » tie

Which one of the following graphs shows the iguaediate ¢

)
A_l 9-4‘.
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20, The diggram helow shows how 4 magnets avs joined logether.,

ng shows correctls which poles A, B, Cand ]
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21, Which one of the filvwnny statements atout fosal fuels 18 not true?

chemica! energy
, - gzround.
WERIE TRELS Causes Aty poy

frinssit fuels causes the cepletion of ozone layer,
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[@)N



22.  Study the diagram below.

The increass in the tamperaturs of the aie wil dyectly affect ong of the above
processes, A, B, C orD and cause i to Increase in rate. The process 15

(1) A

2B

3

(4D

23 Which one of the followyz adaptations enablas the camel to live in the desan®

(1) The hump stores watar.

(2) The long lashes protect the eyes from. thie
(3) The bnstles urda the teet prevent it irom smking into the sand

(V) The thin skin on the knees allows heat o estape rapidl



The able below chows the length of the shadow of a stick at different timas of tha

aav
e i Sam o { Zpn 0 2pm ; £ oom
- r A i it v 3 -~
th of shadow (em) & ! 0 ! e % i

1 1.8

Whith ove of the folowing graphs comesponds to the table?

R TS SR DU SN S
! ' 1
Swm Wam 12pm 2pm 4 pm

Time
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P

LIS N 'Y
Y
z
\Ij 60 J—
Q fuieraminad B ; X
b i i H H -
2eém 0am Rom 2pm 4dpn
Time
{4 “*.

) i 4 %
A 1 | |
Ram {dam 12pm 2pm «fpr

Tirc
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The diapram below shows objects in the Soiar System.

Path ot objects

Descriptions about each object ave given below,
+  Object Ais a souree of hght.

¢ Object B moves around object A.

¢« QObject Crmoves arcund object A

¢ Object D moves arctnd object C.

What could the object he?

A R C I
(1) Sun NMercury Earth A

() | Sun | Barth Moon Mercury

(3) | Moon Earth Merocwry | Sun |
(4) | Moon Mercury | Barth. Sun ]

Sugar+Oxygen ~— ¥ Carbon dioxids - Water vapour + Frergy

£

The above shows a process that happens 1 tiviay things. What process does it

represent?

{1) Respuation

(2 Photosynihes

() Fezmen‘tatmn
{4) Decomposition

2
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7.

Faur ciroutts

using similar batteries and Inudbs are shown below,
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28.
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29,

The piciures above show thata force cany .
(1) change the shape of an object.

(2) change the direction of 2 moving oigjecl,

(3) move a stationary object.

{4) slow down a moving chiject.

Which one of the following actions will sfow cown the depletion of nafaral
resources?

(1) Increasing the world population,
(2) Protecting our raintorests.

(3) Building move factories.

(4) Increasing the number of cars.




30. Study the flow chart carefully.
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Section B: Write your answers ro questions 31 0 46 in the spaces proevided,

31, Mike set up an experment using a hydsitla plant as shown w the diagram below,

Water T

Hydvilla | 7

)

He measared the distance of the toreh By fTom die beaker and the mumber of bubhisz
given out per minute by the hydnlla. He repeated the expenment 3 tites by moving e
torch light further from the beaker 5 cm vach tine

He then plotted the graph shown below with the resulic he oblained.

A

a1

x 1¢
Number of gas '
bubbles mven 8
out per minufe

I
/

5 19 R Dirtance between hoaker
ard torch lght (en)
(2)  Based on the above graph, what patiern do vou sz between ths ruumbe I3

xer from the torchligad?

Tt
-1 O

given out per mute and the distance of e taa

ity e R T U ST S | .
plant that could aroduce the bubbles

5)  Whalis the process that is laking place i e
ot gas? [1]




32, Sanizy tool two idenrical empty bottles and 2 gizss tabing and convected thom as
shown i the diagrem befow. In the glass tubing he had added s drop of red ink. He
then piaced cach of the enrpty bottles in a basin f water.

_empty
bottles -

water -~

Nt

I Basin X | Basin ¥

S S ot

(2)  Intine mable below, star the direction of the roovemient of the red Ink by wilting

SO e e VY LUV v S T o)) re P PR S oy T . Ry
Tewards X7 or “Towards Y7 when the wetsr has the following set of

Direction of moverment of the
Basin ¥ drop of red ink

Terapevature ofwater (°Cj;

Rasin X

!
FORNE S UN 90
0

(b)  Buplein why the deop of red ok moves it} [1]

[P OTR . - il it




Plant X Plant Y

(a)  Which plant, X or Y, 13 mest likely to be uproaied during a storm? 11]

(b) Give a reason for vow angwer i part (a) (1

r




a4, Jemacs grew some hean slants in two stmilar pois as shown in the diagrams below.
He placed both pots at the same place m the garden and gave them the same amount
of water daily

I —~ Ny
Q{/' 4 S
.
\ /

Juxes resorded the average height of the plaris wm Pot A and Pot B once every two
days, After two wesly, b plotted the graph shovn below based on the results thas
1 by

IS DAL

d
zod Q renrassot the average height of the plants 1 eash pot.
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> represents the heighs of the plants tu Pot 57 {1]

5 4
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e
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) Fxnlain why vou thickse, [2)
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35. Ariy placed an opaque abject 1 the middie of & plass table. She then shone a toren
~light fromv different positions X, Y and Z-towards three walls, Walt Ay Wall B-and -

Wall C as shown in the diagram below. ; '

Wall A | o ‘ o

e — . i

(; Ll DWW, 1A
— ey \
I 3 N
} P! ;
{ .
| '
I
{
; i
| i
| !
r !
!
i i
. | 1.
L 1 | :

Wall A Wall B Wwalt C



36,7

Tl.le u'“y\’ “‘i’

t heloW Shows the éhatacteristios of sonme planteand-the way they —
veproduce. ﬁ.!le.msc ves, Shidy the chart carefuliv.

S— Y

: — e
k) - b
| oanar grow Frogncs piant pa k : ‘MM it bear flowers? ! e ;\
o
Ves !
.?.
i - Cag I
Q. j PN ‘.N_.\ . 1 C8H =
i Does U grow from i'r}r{ermound »tem‘ﬂ L P , Docs it have tleshy o)
i J i scale leaves? \&.
. t
No No |
{ )
¥ N
—— Yog - -~ Yeg -
Does it grow from suckers? —» } Doss if bear fuit? |- M E
: _ ‘ ! N
: -‘ ‘
Wo No |
. -
\¢ ()
- Yes

L e T evmans L Taatrad
i Doesit grow from leaves?

5
!

Use the information given wm the chart and idenhiv the plante isted below. 77
Plant Leter ;
i Afgran wolet
Lanang !
Omon !

Pineappie




38.  The diagram below shows a food web i & community.

/,/ 1 — A \\‘
/ ’ 4 - e
/£ 4 .
/./ ~—
e Tl i
/ e A o
. _ LY
j > x RS

v

i %

(2) 1f B is a camivore, which arotv is wicngiy tiaced?
Circle the wrong arrow. {1]

(b) Name two ominivores in the food web. £1}
@ _ . &l

Gy T




35, Fleckical energy 18 widely used because it can bs converted to other torms of
energy. Study the mund-map carefully and fili i the rest of the boxes with the
usefu) form of energy produced by each etectival appliance. {2]
J

o ; r
2 |
z : !
| ; ! !
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/
TN I A
Tahie famyp | Flectric iron ‘l
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@

(b)

~i
1
3

Erie carned out different activities for the same duration. These activities are
represented by the letters A, B, C and D. ie then measured fus brzathing rate and
pulse rate for cach activity. The results are tecorded m the tabie siiown below.

Activity Fulse rate/min  DBreathing iafe/min

A 65 ' 30

B 70 33
C 105 34

et N .

| | %
D ! 130 ; 65 i

Corplete the table below by writing the teers A, B, C and D to match the
description of the achivities that Enc had canied out {2)

Description of activities

Strolling -

Jogging

o o

Watching television

Ruanirg

What 1s the relationship between his puise rate and ius breathing rate? {1




43.

(a)

{b)

An experiment wag cairiad nut to determuine the effect ol leftover food on the
growth of plants. Some leitover food was bunied i Plot X but not m Plet 'Y, The
guality of soil in PPor Xomd Plot Y were similar and the two olote ot fand were

¥

given equal attention. The plant growth In each niot was observed over a period of

kS

months and recorded in the table below.

, ! Presence of Crovwth development of
Plowg of land ¢ _ ;
. leftover food plants !

‘a1 e 4 ‘ . Move green and healtny
Piot X Tes _ 1 7
AVes On plants

. Feweyr preen and healthy
; FlotY No , )
| . .{ feaves found on planta.
i ] - b
Explain the thifference in the growth development of plants in the two plots of
land. {1}
Does hucying the @9 aver lo d potlute the evivivonment?

P, s




42.
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(&)

{b

Give suizable headings for grovps Y and Z. {1}

Group V0|

Group Z; _

nwhich gevup W, XY or Z should the animal shown below be classified? [

The fubifex worm connio? be placed in any of the given groups,

Fxplam wiv this s 30, 71}




43, Aniron nail 1s suspended frecly midwav between Slectromagnet A and
Electromagnet B.

Ao ot oo s
| {¥ |
e o— R .

| Iron | \ 1
bar | _ !

' AMMMDR

R

4 . . /
i Ironnail | /
|

S by

U |

ey

o)

Electromagnet A | Elecromagmet B
§

(2)  Ifboth cireuits are closed, what will happen i the won pail” ]

() Explain your answer. (2




44, The chart below represents reproduction  fiman beings. Complets the chart by

writing the comrect answer in each box. [2]

becemes

[ DECQINeS
|
EE i A
; ) A
...... h S v |
: | . N i
f Man | [ Woman |
i ; j
E 2 )"_“'”—-“‘7'-‘-’
provuces! produces i ! —
i ; E L L
) ; §
R ¥ o - - ; ! I
Y i ) }
1 L ; SE -
i | , i
| ] |
< i
/
. /
., g
™~ p
N )
A Py
( _ .
{ Fertitisation .
) J
Lﬁ_‘/-r-u—v—r—'w-i ...... v .b-‘ i




45.  Ravt took two 1dentical emply tins and made a hole i

10 £ach as shown i the
diagram. He then plugped the holes with some plasticine and {iliad both ting with

the same amount of water. He putthe tins on a balance bear as shown i the
diagram below.

Then Ravi removed the plashicine plugs o both tng at the same time o allow warer
to flow out from the holes.

Tin A T

fin 5
¢ C’F T
4
!\\_,_/ 1 N— g z
| i
i |
| :
. . P ®
ot . 7 7 ]
l | ] L ; i g
NN
2NN
L N
(a) If the beam 15 balanced at the beginning ot the sxperimien:, siafe what will hanger
to it after a short while. [{]
(b)Y  Explain your answer inpact (a). [?]
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Yo are given s reiort stand, two pulleys,; a length of stang and a load of 600 sams
as spoam ahove,

Show by drawing i §

ran setup the apparatus -so that
the foree needed to afl 52 :

he faac 12

‘ e . ) . R -
‘ |
; {
%
! P
i ;
! i3 ;
i ¢ |
i i e e it e i
| e M {
‘i | — ; S - \.j I
H H
| i ?
1 ) }
] {
! I :
1 H i
{
! ‘ {
¢ | j
: i )
! 1. }
: | :
: i |
4 i ;
; i i
l H 4
. 7 H
1 !
! { i
N H v
L H N
i s )
; ¢ :
! g .x
;
! i i
S 4 , i
4 3
t ,'/ . » {
s PO /
\ : e 7
4)/ e et - 1




HOKTEN HUAY KUAN S5-SCHOQL PRIMARY ©

COMBINED PRELIMINARY EXAMINATION (1)

N

SCIENCE

01.
02.

~

b

04,
05.
06.
07.
08.
09,
i0.

31

32)

34)

Loy
[5)
N

S}
~
-’

1.3 214
2.3 22. 1
13, {3) 23, &)

P L

13) 14, 2 242"
n 15, 2 2501
4 16.- 4 . 2B ¢
2 174 27. 4
4 18, () . 28. 3
2 19, 3 29, 2
2 20,4 . 30. ¢

0y
e

The greater the distance oY the heakesr from the torch
light, the lessetr the ntmbder ~f gas hubbles given ouc
per minute.
b) Photosynthesis,
al) (o) Tbﬁ@réf X bY The air in the enpty botile
.- NS oxpands when it is placed in
3y T )
) Tb“hré* ! heth wvater in Tasin Y ani
S cf red in!
T empry
piaced ia

x) Plant Y

b) The reoots in Flant Y are not zpead
are not able teo hold th 7

a) Line F

b) Plants in Fot B are overcrowded so they need ro
grow tallev to get more scalight.

[ o e

[

3) Tt was to sce how the tamperature of phe w
rthe time taken for te cube oY sugac Lo olss

ny
t
13
i
[
a3}
T
41}
()
o
o

BY 1) Volume of the sugar cube,

1i) Amount of water

s i
~

b) iy C

E O




Heat
Energy

=nergy Sound Erergy

40) a) B . Tﬁe greaver his pulse rate. the greater
o ' his brearning rate.

2 Tettover food decamposed, it vel

N 5 b | R
1 leoagen pufriants
-

planzs in Plot X, =20 they grew beht

B) Yes, if =ke ‘oed is not brried propexie, it will agiract
cets g

2y
and pive off an undlerasant smell.

42) a) Byeatvhe through gills
Preathe whyoogh breathing tubes.

£3) a) The iron nail will be ativacted to Elec:vomagnetr Al

Y Flectromzgnel A has more coils of wire arovad it thaco
Zlectromagnait B, thus A bhas wore magnetic force than
3.

44 spevng sgg girl hov

45) a) Tin & wouid Te heavier than Tin B, so Tin A would bs
swey than Tin B.

by Tin B has a bhigeger hole, wn water flows ou
8 rastew rate. More water flows out of T

£ of at
L
rocomes Lighter tham Tain A

n B, it

»

I~

o3
T

o




ERSME TR NG %5 ()

N gfe o] — mC, T A, S === jIC NS4y
EHRg o ZF[m © &4F7 o Bifir e b=

HOKKIEN HUAY KUAN 5-SCHOOL PRIMARY 6
COMBINED PRELIMINARY EXAMINATION (1D

TAQ NAN » ATTONG « CHONGEFU = NAN CHIAD » }ONG HWA

£
2 3o G
3 4:;4.\).-::‘:@-:‘%"{‘&—-

e
NOTE:
Do not open this booklet il you are told t¢ do so;

2. Follow carefully the instructions given at tie beginning of each section of tie
booklet. .

3. Do not waste time. If g question i1 Gifflcuit fJor vou, go on o tie nexi one

Total time: 1h 45min

School *_

Name -
B B

Class I N ] S
II O_/{[‘\)\L} - i
| |




PART 1 (60 marks)

For each auestion fram | to 30, four options are givan. One of them ia the
correst anawer. Make vour choice (1, 2, 3 or 4). Shade the correct oval (1, 2, 3
or 4% on the Optical Answar Sheel.

. Tne diagram shows & cel from the auter cavering of an onjon. Nhfch nart
atiows some, bot not all, substances o pass into and aut of the ceall?

Ay A
(3 B
2 G
@ D
2. The diagrams show four different calls as sgen through a mierescope. ..

Which cell has no pucleus?

{1} ()
{3 (h

fowe



3. Which structures are presentin an animal seil?

cellmembrana | cellwall | chioropiasts | aytoplasm |
@ [ 3 S
(3) v _ X _ N % _
> ! '
Key: v~ stiucture present
X structure absent
4, The diagram shows a section of a slein,

___W.E__

IR

/
b

Which is the main transport function of tizsas G7?

| Substance Carded frem ¢+ Camied ta |

transperted P §

(1) sugar roots [ leaves i
(2) sugar leaves | 1oots
(3) wafer roots i leaves

(4) water leaves roots

5. Which of the following represents the shortest path taken by the blood
traveliing from a leg (o an arm @ human Sody?

(1) leg —> nheart—> lungs — nheartt— > arm

o) jeg —> heart—2> lungs —= arm — > heszr

(3) leg == jungs——=> hegrt —= am —> hearl

(4) leg —> h_mgt‘,;- > Peart v RpigsT arm
K




The dragrany shows the structure of a flower,

Whars do poliination and ferilisation take place?

e s

L. sttnaticn Fedilisation
. v
(1 N >
{2) : X |
) V' P :
S i i
(ay z v

Four pupils classied some P lants accorsing to how they reproduco

vegetatively. Based on the tgble, Which puril ciassified all the plants
correcily’?
Pupil ; iea? o; inal | Sucker | Unce rground | Storage soot ]
OE 8000 Pineapple I&avot Grodmdnut
(2} gj_@u(yop‘\y-'-'_jg Ta})i_@:a _Enger Turnio \
) g/‘\frma" fehp Git { X Onion Teandsh W, dich
(1 ’>»\r.,r_ noviniet  Se a!mg wax | _ Potafo Sweat potato |
i . ; i X ) i
i L..A_.. ;,,dlm : » {




8.

€9

Study the diagram of the human skeleton carsrully.

Which one of the following
Joint P7?

Draining stagnant water is one methad of controlling the populatio

mosguitoes. Which stage
control?

1)
?

N TN T \
S
S S \_/ e

egg, larva, adult
egg, larva, pupa
egg, pupa. adull
larva, pupa, aduit

labelied jonte moves in the same way as

25 0 the e oy

La

o
2 of & mosquite Joes this mathod




10.

.

Huiling sets up the experiment as shown t

rubber tebe &

-‘ld"/

Whegh of the following chan

the rubbar tube?

l)
<

Wi i

N

~
ey
..-,..' ‘J
[V

N

i Aand B anty
2y Aand D anly
3} Band Conly

3 Coand Doniy

iy N, i

Tha

green plants

ges would s

he obzorve when she exhaled into

B b?.c; weare observed ) {h.;\ raterin the heliiar,
lavel in the trough ross

szter lavel in the bell
Hies wars observed in thewater at the hotiom of tha

ErzOUP

AL

table balow shows the oxygen level cumber of fish and number of
wn differant rivers flowing 1o
Which town is most fialy (o be dischargt:

rovigh Toyr towns.
% upireated sewage?

""I

-
I._,J\'H

NU’1‘Ib<—I of gresn plapis

v

kil
U=
o

| |
: . t . I {
‘ ii} ) ‘ TV _ Aany ‘
s gy , T . P ;
Cogy Aaiiy | Many f
Y N R T \
O Few Few
LAt | . . . e ;
L B Mary Few ;

WL



12.  The diagram shows a rat and how It afiacis the environmeant

haat energy
from the whols
- DOJY surface

wasta malter

Which of the fOI owing will not repianish the natural resolrges in the
environment?

(1)  heatenergy
(2) . watervapour
(3)  waste matter
(4}  carbon dioxide

13.  The graph below shows the changss i a populabion of producers and a
- population of consumersin a lake over @ geriod of time. '

Population ]

There is a marked incleass in the popuiation of producers between fime &
and time B. Which of the foliowinig s tha cause of the increasa in

population?

{1)  The seeds deposited in the fake geininated.

(2)  More producers d died because ¢f ovarcrow ding.

(3) Farming ferliliser was washed inte tha lake which promoted arowtdiy

of producers
(4)  Some consumers died so thare weire fawer canaumars to feed on
the producers.




14,  Basad on the diagrarng of the dolphin and fish (nof drawn to scale), which
statemants are trve about thelr adaptations ici movement i water”

3% a streamlined bodv shape.

g a tail to propel iself torward in the watsr,

s 2 swim biadder o keey It afloat in water.

s & pair of flipkérs to help it keep balanoe in water.

0 aci

{17 AsndBoiy
(2) Aand D only
{2} Band Conly
@y Cand Donly

2




15. Three containers, X, Y and Z, were <&t up as shown below. A{the start of
the experiment, the carbon dioxide indizatar in each conaingr was red.
The carbon dioxide indicator changes vom rad 1o yeliow whzn exposed o
incieased amount of carbon dioxide,

o~
SN

Ry e R i e - e

Y/ 'z ;//f ARy 77 7T

~’/_./_/_,’, ~ “/\"//‘;é} Q&Q’ SRR

R AT V57
light \ : . 'm{\\\ L2l l4
N j

\\ i 3

1 N

{ ; .

i 5 wire
freshiy § % S mesh
piucked 3
gaf ;

Cioxida

IR At

What will ba the colotr of the carbon aiovide indicater it asch containesr
after 3 hours?

Test-lube X -iuba Y Test-tube 2
) _red yeilow | yeliow
(Z) red - yallow red

(3) yellow

31 el

4) yellow . _ied vellow

SR D PP

V2ol




18, Study the classification chart below.

S —
Vo Jtem

; Piastic box {

3

!

i Styrofoam cup

;

i idlass botlle ) QiR blopse

§

g X W

What are X and VY most likely to be ?

e e

! X Y |

U _ !

§ {

1) Ceramic plat ; Nawspaper j

) ¥ S S R Y : $MNT < p p\.’. {
(2} Frawn shell Biscuit

{3} Meatai spoon Shhe

(43 Woogen chopstick Eraser
3 o~ . O




17.

Thepicture below shows the sun as viewed from Earth at daytime during

28olad eclinse.

The diagrams below show representations of four different positions o7 t

RN ‘)_]
Earth, Moon and Sun in our solat sysien,

Which is the correct representation of the solar aolinge?

sl
L
f/" . %
) O :'
S N %
—~— ) ‘
Sun Earin Moon
~ o ~“‘-\
/ \
O \ ] fl
Moon Sun ;
N o |
) () |
rd . !
Sun Mean
i
%
s ¢
7 ¢
- |
i 7 Moon |
:
J
r
Sun ;
§
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PN
0

8.

Alt prmiped

hardei

Why did i beoe

¥

!

e e tea o
e arin el

more air intn an inflated baskethal, He fou

me barder
air i e basketball has escaped.
2 alr i thae basketbal]l has expanred

basketbalt was comiprs
nasketball has incraagsed

air in the

ed further,
i voSume.

nd thatit became

r

fmn M = 5 fing out how adding semea substances affect the
b e { f W ey
He camiad out an axneriment as stated saiow,

o e

i { Add some sai into a beaker of watel, 4
2 Heatthe solation, stiring it cortruously untl all the salt dissoives.
,
3 1 Measura the poiling point of tha soiuion, !
4 | "’vwa S{.!,.LH P10 2 using suga”.

IS
1

[ ot N

epaatl staps 11e 3 using hor\ew

Wnat va
A
b
(%
D
4
N 7
€y A
) A
iy B

riables

‘6\

renst he keep constant i order to carry
aronunt of water

mass of substance

boiimy seint of the solutior
initiat temperature of the water

[ R el

B angd O only
Hanag 3 onlv
Cand [ only
Cand 0 only

11

ouf a fair last ?




20. A big block of jce is laft to melt or a pizce of metal sheet as shown below.

metal shee?

N

Which of the following siatements are true when the foe is msiing

A The temparature of tha ice decreazes.
B The meatal sheetis losing ! eai to the ica,
C The walar 1s gaining heat from the surroundings

{y Aonly
(2)  AandBonly
(3)  Bang Conly
(#) A Band o
21, Tworing magnets X and Y are put throuah a rod as shown palow,

Rud

e Magnet X

- (L
7 - /
/- g < <
L e Magniet
e

Iy
R L

Why is magnet X suspsnded above magast YV

(1) Therod is mada of steel

(2) Mcgnet\r s 2 ey v weak magm“t

(3)  The like poies of both magnets f& e each olher

(4)  The mass of magnet Xis less thar the mass of magnat Y,



22, The pie chart below shows the sources of air pallution in a city.

5% Solith wastit Sisnnsn!l N
_ corrmeen e B% Cihinre
8% Maze frops foragt rgs veme—y

31% Ernigsions e N\

3% Emisste e s 388 Errissions
fromm INoustres \\ vehiclas

and power stahona

Rased o the pia abard, what action wil* reciuce the most amount of 2iy
polivtion in thig cify ©

A Cut dawry mora trees,

3 Allzoate more fand for landfilis.
G Use anargy-saving applignces.
o Use public ransport more oftan,

cand B oniy
and C oriy
»and D eniy
Aang D ondy

Ry -

N =

P

—
P
N L

—
(R

v
1



23, The diagram befow shows some human agtivities which affect the

environment.

sewage
oLiflow

Which human aclivity/activities 1afare this main causes of

(1Y AandBonly

B and G only
3)  DandF oniy
(4)  EandF only

acid rain?

Naterial | Good conductor of heat

High melting peint

() Y

</

(2) " x

! _(4) B x G X
Key: v meaans characiensic pressnd
x cans charactarist’c sboant

L1



8

Wisich of the following process(es) showish.an increase in heat ?

A melting of buttsr
2 casing a shadow

C hardening of fquid wax

(1Y aonly

(2 Aand Canly
(3 Band C enly
{«y A Band

The tabla below shows the melting poirta aad boiling poinis of substances
A. 8, Cand D,

Substance [ Meiting point (°C) | Boiling point (°C)

¥

j.

i / A~ Q7
i A 42D it
; .7 [ ’

} = D.2

L ——

i PN t o

i o } -~

I [ R

} o ¢ \

H L i 7

At room mperature (30°C), which of the foilewing observation{(s) isiare

correct?

(1) Subslance D isin the solid state,

{2y Suhstances A znd B are in the soiid state,

3y Substances B ana G are in the liguid state,

{4y Substances A, B and D are in the gasenus state.



27.  Study the foliowing set-up carefully.

[

f

¢

t

e
48 j
¥ i
i :
i |
& :
Ry i
— ;

L i

Which of the following shows the corract 1elationship behween the dislance
of the light source from the pen and the fength of the shadow?

~ e
Length of the VAR \

S N
shadew (cm) o \\ )\ ) (N
7 DS N S
./;‘ 7 7 \\
; .3‘/ Y \
e ~
2 o i I\‘\\.
/ /‘)‘-J \ ‘\\

[rce AIRNE
&)

Distance of the light source from the pen (cm)

-




on a card with a lettar “R7. He saw the reflection as

-
\

ed 2 i

~
~

Alex pla

28.

shown below.

- |
i) L)
[t [
j . R S

= =
o fo

X

ey

B Ty
A N R A A

£
I
Il

N
\ !
‘

R

BN R

J
7

y ,.w

A 3y
D N LY
U USU. | “»z.. e maemer e meres oo
] f |
e e it ek v s e 5 o vt it

o™ -
™ o
A ——

DO

—~a

iS4

L o minrs = i e ——dy

p_—

hAnl

e

/

.\u

i

5

e

17



29, Faizal set up an electrical circuit as showr: below to find out If 2 metal ruier
can conduct efectricity. The bulb did aol hght up.

_|/‘ )...‘\
\ﬁ;{’ - bulb

P ety
7
=
5 1"\\_ f_f— ‘_‘-—...—‘\W\
i ;
H
\ M(is SN " melal
) .
Pt
battery wem 1§ b
t J
5 < e
‘ ST Dare wive
k—v—/—-..,_._““_u P

RS

Based on the diagram, which s the minst likely reason”
S \

(1) The bulp is fused,

(2)  Bare wires are used.

(3) ° The buibd is connected wrongiv.

(4)  The arangemen! of the battedes iz wiong.



o

Calvin conngcted four objects W, X, ¥ and 2 to an electncal

Figure 1,

J—— s

v

circuit as in

&
f~_
C&

T ;
et LY |
: N !
! :
Lo {
: z
as in Figure 2
! S v e Y ! E
b 8 —
‘ : Rrweannt 2k 3 é’f §
: : A = |
' Butb < S
| | - @% —
: i . = X
T R
: T \ AN §
; : WM.];‘Z I \f‘( - .
| L i SR Bub ;
I L Lo :
| USSR p— [T

Pigure 2
§

What is most fikaly to happen in Figure 77

1) Bulbs

(23 Eﬁ:ibs

(‘3:’ Al nftha bulbg wil
4y None of fhe hulos

1. 2 apg 3wili light up.
1,0 and 4 wx!; aght up.

! ight up.
will light up.



PART I (40 marks)

Answer the following questions in the spaces provided.

31, The diagram shows ihe longitudinal section of two fruits, Woand X (not

drawn {o scate),

In the table below, cuagest bow tha fiuits are dispersad and the

T

are B e structures

that aid them in their dispersal. o
R ‘ o —
Fruit Method of dispeisal | Stuciure that sids in dispersal |

W

X

32, Study the following diagram carefully.

—— 7\

X

et

Stage | afage J

State {he proress that has coguirmad ot Staas 3.

—
<8
——

N !\ l@ , )

(D) In which oan of the human dedy are aperms progus

.
e
o0

-




33 Thae apparatus shown below can be uset W iliustrate the action of
breatning

oezi jar

Fil s the boxes with tha pa‘t (}f the raspiatory system that is iedresented
by e=ch of the apoaratus. HS)

1; ; Anparatus { Partof the Respimtur\/ Systay g

1} I | :
i '% : e r:
% ) bell jar i i
— - -
ity balioors ;
T ; " - -
e rubber sheet ; ‘
Lo S S N

LR
St




Lo
B

Meiling carried out an expenment using the fowr setups as shown beiow,

Placed in the lohy

Plesed nihe dark

N : pelit-dist - e NN
e T A ~
\\ - ’;"“‘ \\‘\

— -
; ; \
. Sead e *jz”*—*‘-'\J (. \
R i/ - A
e ; i !
Vi i »* i
) s ( 7/ 1
7 ¢ H
et e Qamg o -\ C “ e L wey R b!
N
{u"/ Vr\_.k_, A AN N /
S vy
S \ S
e
=
Selun 2

/ G : ) \ //'/ 77N - \
%Y seod ——f—{g )
' (s - Y
H } iy : < \ !
F st A !
\ ' \ R
- —yTTT Ory agiiogn e - . >
G { W ) ; Y { Lo Jf
N 7 Ve (N \
.—‘,l/f \\ ‘__//
By o~
4 ~. ~
. —_”_",,::f,/ \i_‘.\“\_‘_/_ -_.r:';(/
—— R I g

(a)  She ohserved that the seeds in s

e set-ups gemiinatad, In which

sel-ups did tha seads germinate” i
(b if she wanted to find oot wheiner waler le neaded o7 the
germination of seads, whizh 2 set-uns should she choose for a fair

lest?

[

e A

)



35, The diagram below shows the human digestive system.

n ahove and put #tick (V) in the corect boxes aC; e

. l
(S

T
P

i T B = e : Y
[ frue False Not ;
f ! z !
2 ; \‘f,—xff‘r:-“‘w\l H l ;"v\sblb.e Tf) §
P - B e - - . i tell ;
((a) | Digestion bagins at Part A, : 't ;
) 1§ { i
L | '
S j
!y T Mgy ] i
{{b) 1 Part s the jongest partof the j
!’ § digestive system. § ; |
j ’
(o) [ When a person suffers from N |
; | diarrhoee it means that Parts R | i |
i i ;o . ; ) {
. ___1and T are ot functioning we'i. i 3
. \ 3 q !
{dy 1§ Human wasie ieaves the body | |
{through Part D ‘- i 'i
Cean - - .. e L ¢ j

it
fud




38.  The graph shows the number of people suffering from a paricular disease
avar a number of years. Penicillin ((an antbiotic ) is made svailabie 1o

treal the disease, caused by a certain type of bacteria, at time A.

td
Norrber
of people
suffering ‘
from the C S
disease ,/ \ :
\ . E o ,,M*”’A
)/ \% _.r““”-
.’/ \“'u-!"'-"""."
b
- [ o
Pyt ? e
A B C i)

(2)  Based on the graph, describe the offeat of the us
©onthe number of peopie suffaring from the mm
and D.

of tha antibiotis
s2 batween time

Ty
i

D

{b) - Suggest a reason for the incregsa in the number of people suffering
from the discase after time 0. {2




37, Inthe diagram, the arrows A, B, and G represent different formis of energy.

ey

Nansb)

8

ldeniiny the type of arganism that might use the anergy given out by
tha tow 21 C. i




38.  The diagram below shows three typas of fishes P, Q ana’ R The fishes
five armongst water plants in a river. A predator of the 3 types of fishes i1s
introduced into the nver.

water plant

Py

Joa N “:\fx \r’*,

I UL AR R
A >

e
ﬂ—“\_mm‘b JFONNNOS NS, SO S . YA AN e WA A N s var

(8)  Based on the diagram, which tish 2, 3, or R would most fikely have
the greatest decrease in number? Explain your at ISWET o

(h)  After a few vears, a similar-sized Tourth lype of fish S appaaies i
Y \"«.‘g. < VRN ;:f \WMmoes Iinctre ._4 ! C\xj .’ 2 G :‘
the rivar and began to invrease in number more han a2l tha oiier &

types of fishes.

In the diagram below, draw the ike'y bady pattern of Fish S, Ll

T “\\N T ';
%\m“%\‘\\\ -
NG



38.

=hown in

Two abiects A arw! B are hung on a rod yath
the diagram below, Object 2 i a hodow cone made of

-, J
cardboardg

the help of a lit candie as

o [ ' ;
? e e ) : |
|
i J\
~: 7\
L N
P B \
foa \
\ i E—
\ !
\-._»_J_.. -
~
/7y fame
__L!
!
I i
- R R ty
{8y Whatwoul! happen to the levar wher the candle flame is
(=Y Whatl can you say about the raes of object A as compars
masa of oiyact 'B ?

i

T

[ERE

removean

v

s.L.

N
R



40,  Three wheel and axie-systems, X, Y and 2. are used te fift the same load
They are drawn {0 scale.

/ _w‘\
i %

i
H
{
|
i
i
§
I

r

* — R
X %

A o
and ' load |

(a)  The table below shows the different amoint r’e‘for. naeasd when using
the 3 wheel and axle systems. Complete |‘ table with the appropriate
wheel and axle system X, Y or Z that con Fu.ds with the effort needec.

141
R
- I - !
Wheet and axie system { Erori needed to Mithe |
z inad )
.% 12
A !
9 i

(by  Arrange the wheael and axie syqtcm' aJove (1 agcentin
distanoe moved by tha eflort when tha o d moved e

go
sar




41,

Compiete the passage helow by filling eack of the blanks with an

appropriate wore 121
Carbon dioxide, s yaw traps the heat from the Sun

and pravents i Hom eas aomg back inio space easily. k\ han the amount
of this gas ihgreassy excessively, tha ternparaturs of the Earth will

N . eading to gioha! wanming. More polar ice will

B e T,

meit. the sea tovel will Jand bring about

S b b i e

oW»lymg arens.



pring {cmy)

FJ

Length of s

Hamza and Jason carried out an experiment (o find out how the

mass o}

an object affects the length of a Qpring when the object is niing onit. Theay
recorded their resulis and plotted the graph below.
4 Spring ﬁ\ {(Hamza's}
— . e -
| e |
SRS SO ASUURN Y DU S
( ' ':
| S ~ Spring B (Jason’s
] I D, i
, w""’, i
_1 e
t. L 7/;?
/ '*' i 3
- ] ¢
| SN SR '( l
?
'. L Lk (.

Wha J,J mass at the OPJ\CL

80 84

L when thal springs are of the same

Imgth 7 L
Find the extansion of Spring 8 when an objact with'a mass of 60g
i hung op i [
Who has a afronger spring 7

How could vou tell that hus sprineg was stronger 7 2




43, Complete the classification chart below with suitable words, 12}

T Sanr s )

: i —
i Matenals |

[

[N o

n!
= - i ) i
I Good conductors |
| of heat ; ! r N

|
|

|
?’
|

{ ! %
! i ! :
gu....-.o-..,a_-mu_: ety r el Y r i “ i.
P Magnstic § | | plastio |
\ ! by
;- | I
; e d L et e
, S o
! ; - i

- _—
e iy o
1

R —— _,-.....-.L_,.,,__»....‘._ ‘ [V e e
l nickel 11 coball i i f 7._5':'!'::7 coppar |
! - iw__ﬂ_ o L_.._.._Hﬂ- b e e e

G

44,  The dizgram below shows the movement of 2 ball w‘wn it bouncs

ah 48R
g4 44 3
A-Q-Q‘f(
oo —
=
Y
oo 81 Fred
A S PO
FEO FO DS
B e, LA
Waobsd Feeas
Rty ¥ At
-

{2) State the D

‘w
potentiz: enar

- . + .
T R e T e o e s
sttion{s) where tha bali has the least gravitational
12 )

]

{0} Slate tha enargy conversion frym “osition A to Fosition C)

-
f—’

N
f :
Ve e o

anergy Tenergy eneray

e
1
|

-

+

(93]



45,

B

Josephineg covered three similar Gns A, B and O with different coloured
paper. She pul a thermometer in each tin ancd 1R the ting i the sun. She
recorded the temperature of the air in the ting every two minutes.

i\ \
i [{
l . il
0 b
i I
[NEN V3
i i
|

Tin A covered m & covered Tin G covered
with white paper th black papar with red pager

She recorded the resulis in the table batove,

[ Time (min) | Temperatire (°C)

!

{ Tin A L TinB ]

0 28.0 | 28.0 280 o
2 280 e ! 28,5
4 28.5 '1 505 i 25.0
; i - 1 r T PO :
S 2.0 R L 28.5 |
8 250 1 320 ! 285 §
10 | 29 5 L 0.5 '1 305 :‘
(2)  What was the zimn of Josephine's experiment? M
(b)  Whatis the relationship between the temperature of the airin the
tin and the celour )f the p.c.,uc.z 7 P




Michael and his Three friends obsarved a kettle of water holling and each

of inem made an inference.
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{2} Which bwo bovs made the cores inferences

L) Explain why the

The steam has aneic energy.
There is more water vapour in the air now.

The tempersitiz or the bailing waler is rising.

The mist coming out from the spout is In the gasedus
state,

other twe inferances wera wrong.
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HOKXIEN HUAY XUAN 5-SCHOOL PRIMARY &
COMBINED PRELIMINARY EXAMINATION I
SCIENCE
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39)

40)

51)

42)

ACY
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45)

a) The lever will tilt downwards

b) A is lighter than B.
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al) C
b) Gravitational kinetic heat sound
potential
2) Tt is to find out which colouied paper abserbs the
most heat.
b) The darker the colour of 3 covering the tin.
the higher the temperature «f the air inside the tin,
a) Michael ana Shawn.
. R '__D o
b) mpe "emsing the same at 100 -

Ter ature of beiling warey
The mist

& Linvy water




